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Independent and Dependent Variables

Shodor > Interactivate > Discussions > Independent and Dependent Variables

Mentor: Today we are going to discuss independent and dependent variables. What does it mean for something
to be independent?
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Student: That means that it doesn't depend on anything else.
Mentor: That's right! So what do you think it means for a variable to be independent?
Student: Maybe that variable doesn't depend on the other variables or numbers.

Mentor: Correct. In mathematical terms, we call a variable independent if its value can be set arbitrarily to get a
result. This is known as the input of a function. Do you know what | mean by "input"?

Student: That's the variable that you start with. You know that variable, then you do something to it, and you get
the "output™.
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Practice Exercise:
Try this set of 4 pairs of (x, y) values using Data Flyer:
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Using the Data Flyer application, find the best fitting LINEAR EQUATION for the following 15 pairs

of (x, y) values.

f(x) =mx+Db or y = m*x + b or y =mx + b.

You are finding values for the SLOPE m and the INTERCEPT b for the equation.
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What is the sum of the squares of the deviations for your function?



